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1 %22 7|9E 45 Y . H2AHYFT -14% & 7|2UF -0.9%
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3. % Z7IX|x B
* 32 J4QIAH| (MoM) 0.1% — 0.1% (0f| AH0.2%)
* 32 2APCEE7IX|4= (MoM) 0.2% — 0.1% (0] 4:0.1%)
* 42l O|A|ZHC A H|RHA 2| X4 91.0 — 89.0 (0f4+:90.0)
* 49 A|Z}PMI 53.6 — 50.4 (0f|A+:53.0)
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6. £ MFH, S-L2-Z-SYCHYU 5707 B2 ZAl Y =8
DOW30 17773.64 (-0.32%) WTI 4592 (-0.2%)
NASDAQ 477536 (-0.62%) COMEX2 1290.50 (+1.9%)
S&P500 2065.30 (-0.51%) COMEX T 2| 2.2790 (+0.64%)
KOSPI 1994.15 (-0.34%)
KOSDAQ 699.77 (+0.01%) e 1.794% (-0.7bp)
o|=2 1.83% (+0.9bp)
sz/9y 1.1447 (+0.0100) g3 1.59% (-1.2bp)
Sz/q 121.94 (-0.74) =9 0.27% (+1.5bp)
e/ 108.08 (-1.63) oA 0.63% (+3.0bp)
chay/2l ot 6.4589 (-0.0365) O|Eta|of 1.48% (+0.5bp)
21/ 1139.30 M 113820 AH QI 1.59% (-1.0bp)
NDF 1144.00 / 1145.009 4658 A5 ag|a 8.25% (-30.5bp)
=Tt/ SR PEYS PNE Previous Forecast
5¢€ 2¢ [ 33(=3H), (YA salHo) 8% 1
o= -42 ISMA| = QPMI 51.8 514
42 R Z=PMI 50.8 51.0
SEE -42 HZEYPMI 515 515
£ -4 HZ=HPMI 519 >19
53 3¢ [ Q2(EE7IEY) 88 ]
=2 -4€ Caixin®| = &{PMI 49.7 49.9
oz= -32 PPI (MoM) -0.7% -0.1%
o2 42 HZ=PMI 51.0 51.2
53 4¢ [ Q2(XEo Y) 5F 1]
-42] ADPH| S Q18HE 200K 195K
-127| Hs Ll -2.2% -1.3%
o= -39 RoAR| -47.108 -41.50B
12T Bl sH|8 3.3% 3.0%
42 ISMH|H = 2{PMI 54.5 547
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IRS OUTRIGHT IRS SPREAD

1y 1.4625%
2Y 14125%
3y 1.4300%
5Y 1.4900%
7Y 1.5475%
10Y 1.6375%

(0)
(0)
(0)
(-0.25bp)
(-0.25bp)
(-0.25bp)

1*2Y -5.00
2*3Y 175
2*5Y 7.75
3*5Y 6.00
5*7Y 5.75
5*10Y 14.75
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